Porownanie pomiedzy roznymi
punktami czasowymi obserwacji

Przedziat : Wy_mk, A (wewnatrz grup)
CZasowy srednia + SD
Porownywane
punkty
TO 15,/1+£754 TO-T1 1,000 N5
T1 12,14+ 841 TO-T2 0,582 N5
12 1057+8,18 TO-T3 0,067 NS
0,078 NS
13 07,71+766 T1-T2 1,000 N5
T1-T3 0910 N5
T2-T3 1,000 NS
T0 12,31+645 TO-T1 0,676 NS
T1 08,85+6,22 TO-T2 0,169 NS
12 07,46+547 TO-T3 0,008**
Il 0,012*
13 05,00+3,03 T1-T2 1,000 NS
T1-T3 0473 N5
T2-T3 1,000 NS
T0 1550+1245 TO-T1 1,000 NS
T1 12,28+6,83 TO-T2 0,035*%
12 06,85 +4,91 TO-T3 0,018*
Il 0,008**
13 06,14+5,24 T1-T2 0,462 NS
T1-T3 0,277 N5
T2-T3 1,000 N5




